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S1 Paper C — Marking Guide

1. (a)  e.g.using a distribution or other simplified way of representing a real
situation that allows predictions to be made about it B2
(b)  Normal B1
(¢)  e.g. most values close to mean; roughly symmetrical B2
(d)  e.g. male and female mean weights may differ giving bimodal dist" B1 (6)
2. (@)  mean 25 i
temp g
(oc) 24 X 5
23 X
%
22 x il
21 B3
20
1992 1993 1994 1995 1996 1997 1998 1999 2000 2001 year
282
(b) Syy: 140 — 8 =42 M1
2
Spr=4173.93 — 25— 10.64875 M1
Syr=644.7 - B3 _ 595 M1
= T 2813 1Al
"= J42x10.64875 ~ V- M
(b)  8pairs .. +0.2813 is only weak evidence of June getting warmer Bl &)
57-16 _ 41
3. (a) 120 — 120 MI Al
85 57 16
(b) 150 = P(O) + 130 — 120 M2
85-57+16 _ 44 _ 11
P(C) = 30 120 — 30 M1 Al
o P(CnD)
(c)  P(C'|D")="p0) M2
35
= =5=3 M1 Al (10)
120
4. (@ b= -6953 Ml
a=104.4—-(6.953 x 4.92)=70.192 M1
¢=70.2+6.95v M1 Al
(b)  a=no. of sign-ups without an advert B1
b =no. of extra sign-ups per million viewers of advert Bl
(c)  70.192 +(6.953 x3.7)=95.92 .. 96 MI Al
(d)  e.g.type of programme; length of advert B2 (10)
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28-25

(@ PZ< ) =P(Z<0.75)=0.7734 M2 Al
(b) P(5<T-25<5)=P(3E <7< 382, M2
=P("1.25<Z<1.25)=0.8944 —0.1056 = 0.7888 Ml Al
() P(T <23)= P(Z<0.5)=0.6915 Ml Al
P(3bikes, each < 23 mins) = (0.6915)’ = 0.3307 M1 Al (11)
(@)  freq. dens.=0.05, 0.4, 0.65, 0.6, 0.9, 0.55, 0.225, 0.05 Ml Al
freq. dens. )
0.8
0.6 Ry - -
0.4 11
0.2 B2
0 T : T
350 400 450 500 550 600 650 700 750
no. of visitors
(b) yvalues= "8, 4, 2,0,2, 4,7, 14 M1
SH=(8x3)+(4x8+..=131 Ml Al
_ .o, — 131 _
(o Xf=179; y= Bl =1.658 Ml
x=(10 x 1.658) + 509.5 = 526.1 Ml Al
std. dev. of y = /24 — 16587 =4.805 Ml
std. dev. of x =10 x 4.805 = 48.0 M1 Al (13)
@ tx3=+1 MI Al
()  same method, giving
1 2 3 4 5
M2 A2
PB=b) | 3 | i | 5 | 5 | 1
() TbP(b)=-L5(5+8+9+8+5=32 =1 M2 Al
(d  P(winning)=1 + % =23 MI Al
expected winnings = % x 50 =30 pence M1 Al
(e) (3x30)—100= 10 .. 10 pence loss M2 Al  (16)
Total (75)
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Performance Record — S1 Paper C

Question no. 1 2 3 4 5 6 7 Total
TOpiC(S) modelling scatter probability regression normal histogram, probability,
diagram, dist. coding discrete
pmce r. V.
Marks 6 9 10 10 11 13 16 75
Student
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